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NEW QUESTION 1
- (Topic 1)
The main benefit of a mass customization product design strategy is to:

A. sell high quantities of product to specific customer segments.
B. achieve economies of scale in purchasing components.
C. offer more product variety while keeping inventories low.
D. avoid assembly of finished products.

Answer: C

NEW QUESTION 2
- (Topic 1)
Which of the following situations is an example of postponement?

A. Shipments are broken down into small groups for reshipment.
B. Shipments are consolidated immediately for reshipment.
C. Production begins after a customer order is received.
D. Partially assembled goods are assembled at a later stage.

Answer: D

NEW QUESTION 3
- (Topic 1)
Reverse supply chain activity typically peaks nearest the beginning of which of the following stages of the product life cycle?

A. Introduction
B. Growth
C. Maturity
D. Decline

Answer: D

NEW QUESTION 4
- (Topic 1)
A manufacturer of plastic components that are sold either directly or through distributors wants to identify the requirements of the end customers for each market
segment. Which of the following approaches would be most appropriate?

A. Analyzing the buying history for each of the market segments
B. Asking the manufacturer's direct customers
C. Conducting a market research project
D. Sending samples of potential future products to the final customers

Answer: C

NEW QUESTION 5
- (Topic 1)
Which of the following corporate strategies is most consistent with a flexible supply chain strategy?

A. Being the low-price leader
B. Providing the highest-quality service
C. Providing mature products with stable sales
D. Emphasizing the quality of the product

Answer: B

NEW QUESTION 6
- (Topic 1)
Which of the following strategies is used primarily for demand planning?

A. Build-to-order scheduling
B. Push-pull replenishment
C. Collaborative planning, forecasting, and replenishment
D. Vendor-managed inventory

Answer: C

NEW QUESTION 7
- (Topic 1)
Which of the following factors typically is the most significant impediment to implementing collaborative commerce?

A. Technology barriers
B. Security
C. Corporate culture
D. Return on investment (ROI)
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Answer: :C

NEW QUESTION 8
- (Topic 1)
Incorporating supplier input into product and process design helps to:

A. maintain quality.
B. stabilize product costs.
C. reduce time to market.
D. save costs to the buyer.

Answer: C

NEW QUESTION 9
- (Topic 1)
The purpose of continuous improvement in the supply chain is to:

A. eliminate the root causes of problems.
B. improve interorganizational communication.
C. develop better written procedures.
D. reduce product costs.

Answer: A

NEW QUESTION 10
- (Topic 1)
The probability of customer dissatisfaction is highest when which of the following conditions exists?

A. Customer expectations are clearly defined.
B. Supplier execution is too low.
C. There is a gap between expected performance and perceived performance.
D. There is a gap between what was indicated and what was accomplished.

Answer: C

NEW QUESTION 10
- (Topic 1)
A main benefit of using customer relationship management (CRM) is:

A. maximization of on-time delivery.
B. minimization of product returns.
C. identification of customers with high lifetime value.
D. finding new markets for existing products and services.

Answer: C

NEW QUESTION 15
- (Topic 1)
A return material authorization (RMA) policy is used in reverse logistics to:

A. physically transport returned items by using an efficient transportation mode.
B. minimize the number of returned items by involving product design and demand forecasting.
C. reduce the cost of returned items by refusing to accept items that should not be returned.
D. reclaim substantial value from returned items by recycling.

Answer: C

NEW QUESTION 16
- (Topic 1)
Which of the following considerations is an important supply chain design decision?

A. Product design
B. Selecting supporting information systems
C. Identifying labor force requirements
D. Identifying training programs

Answer: B

NEW QUESTION 17
- (Topic 1)
Compared to a blanket purchase order, a supplier alliance agreement is best differentiated by:

A. efficient material replenishment processes.
B. clearly identified roles for the buyer and seller.
C. a shared vision of added value.
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D. a sole-source agreement.

Answer: C

NEW QUESTION 18
- (Topic 1)
A manufacturer uses standard costing, and a potential supplier uses activity-based costing. This difference most likely will have implications for which of the
following types of future decisions?

A. Price concessions
B. Make-or-buy
C. Distribution warehouse locations
D. Freight terms

Answer: B

NEW QUESTION 23
- (Topic 1)
When designing a supply chain for strategic advantage, a company first should consider:

A. the impact on customers using Just-in-Time manufacturing.
B. the financial stability of suppliers.
C. matching the supply chain to product type.
D. whether to use custom or standard parts.

Answer: C

NEW QUESTION 27
- (Topic 1)
Maintaining a long-term collaborative relationship with a trading partner requires:

A. formal and informal communication.
B. interconnected information systems.
C. one partner regularly exercising power.
D. standardized terms of agreement.

Answer: A

NEW QUESTION 29
- (Topic 1)
Which of the following situations is an example of inventory being held as a way to balance supply and demand?

A. A manufacturer holds inventory of key components to maintain a level production schedule.
B. A manufacturer of seasonal products builds finished-goods inventory before the peak
C. selling period.
D. A distributor maintains safety stock of slow-moving items at a central distribution center.
E. A retailer stocks a variety of sizes and colors of a fast-selling item to avoid losing sales.

Answer: B

NEW QUESTION 32
- (Topic 1)
Risk pooling enables a lower total inventory level without affecting service levels based on which of the following assumptions?

A. Inventory turnover ratio can be reduced.
B. Aggregate demand is more accurate than disaggregate demand.
C. The planning time fence can be adjusted as needed.
D. The supplier shares some risk for holding inventory.

Answer: B

NEW QUESTION 35
- (Topic 1)
Compared to mass-media marketing, customer relationship management has the advantage of allowing the organization to:

A. compete for customers based on service.
B. reach a larger number of potential customers.
C. reduce inventory to improve cash flow.
D. focus on attracting new customers.

Answer: A

NEW QUESTION 36
- (Topic 1)
A company’s decision to charge different prices for the same service sold in different market segments is most likely based on which of the following metrics?
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A. Internal rate of return (IRR)
B. Lifetime customer value (LCV)
C. Net present value (NPV)
D. Return on investment (ROI)

Answer: B

NEW QUESTION 41
- (Topic 2)
A company currently produces custom goods for a limited market. To increase market share, the company will implement a strategy to reduce the number of
products it produces and reduce delivery lead time. The company can increase its chances of achieving the strategy by:

A. using benchmark data for products in the same product groups.
B. incorporating results from market surveys.
C. involving customers in the product design process.
D. using electronic communications to receive customer complaints.

Answer: C

NEW QUESTION 46
- (Topic 2)
What are the steps in the supplier relationship process?

A. Measure, fulfill, document, model
B. Source, document, manage
C. Measure, procure, fulfill, model
D. Source, procure, fulfill, manage

Answer: D

NEW QUESTION 50
- (Topic 2)
The transportation manager at a consumer goods manufacturer has decided to begin shipping full truckload rather than less-than-truckload quantities. Which of the
following
outcomes is likely following implementation of this decision?

A. Inventory levels at the manufacturer will decrease.
B. Lead times as seen by the customer will increase.
C. Production efficiencies at the manufacturer will increase.
D. Transportation costs as seen by the customer will increase.

Answer: B

NEW QUESTION 53
- (Topic 2)
Managing supply chain risks includes which of the following activities?

A. Developing alternatives to key suppliers
B. Setting aside funds for disruption-recovery efforts
C. Charging each supply chain partner a portion of risk cost
D. Creating extra inventory to cover disruptions in the supply chain

Answer: A

NEW QUESTION 54
- (Topic 2)
Which of the following warehousing tools enables wireless scanning of products?

A. Magnetic stripes
B. Universal product codes
C. Radio frequency devices
D. Local area network

Answer: C

NEW QUESTION 56
- (Topic 2)
Which of the following processes would a company use to evaluate the risk profile for end- of-life planning for a product family?

A. Distribution requirements planning
B. Sales and operations planning
C. Rough-cut capacity planning
D. Production activity control

Answer: B
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NEW QUESTION 60
- (Topic 2)
The United Nations Global Compact uses 10 guiding principles to:

A. reduce uncertainty for multinational firms regarding legal, import/export, labor, and environmental standards across countries.
B. set minimum levels of compliance across a broad range of transactional areas for businesses operating in multiple geographic regions.
C. align the needs of businesses to increase profitability and the needs of individual countries to ensure their specific legal requirements are met.
D. help ensure that markets, commerce, technology, and finance promote advancement of economies and societies everywhere.

Answer: D

NEW QUESTION 63
- (Topic 2)
Which of the following statements about the use of bar code labels for product identification in the supply chain is true?

A. They have been replaced by radio frequency identification tags.
B. They can be read by devices 1 to 3 meters from the item.
C. They facilitate the capture of information about the location of items.
D. Each of the trading partners must apply a unique label.

Answer: C

NEW QUESTION 65
- (Topic 2)
The most appropriate reason for a business to comply with the United Nations (UN) Global Compact practices typically would be to:

A. enhance the competitive advantage.
B. gain access to proven management tools.
C. reduce the threat of organized labor.
D. reduce the cost of operating in multiple countries.

Answer: A

NEW QUESTION 66
- (Topic 2)
A company's supply chain depends heavily on sourcing from international suppliers. Conditions increasingly threaten supply continuity. Which of the following
actions is most
appropriate?

A. Source from domestic suppliers.
B. Conduct a risk assessment.
C. Carry additional safety stock.
D. Spread logistics across multiple carriers.

Answer: B

NEW QUESTION 68
- (Topic 2)
A product design that can be produced to requirements even when conditions in the production process are unfavorable typically is known as what type of design?

A. Universal
B. Computer-aided
C. Modular
D. Robust

Answer: D

NEW QUESTION 70
- (Topic 2)
When implementing e-commerce in the supply chain, a company's toughest challenge most likely will be:

A. getting all vendors to computerize.
B. translating data into universal standards.
C. convincing the information technology department of the value.
D. explaining the reason for change to customers.

Answer: B

NEW QUESTION 73
- (Topic 2)
Implementation of supply chain applications based on which of the following technologies is most likely to have the lowest fixed costs?

A. Best of breed packages
B. One integrated package
C. Service-oriented architecture
D. Software-as-a-service
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Answer: D

NEW QUESTION 77
- (Topic 2)
Which of the following outcomes occurs when direct shipping is used instead of a distribution network?

A. Outbound transportation cost is reduced.
B. Inventory velocity is reduced.
C. Order-fill rates are reduced.
D. Inventory obsolescence is reduced.

Answer: D

NEW QUESTION 82
- (Topic 3)
Measurement of service to the customer should consider which of the following strategic priorities?

A. Cash flow
B. Responsiveness
C. Order cycle time
D. Forecast accuracy

Answer: B

NEW QUESTION 86
- (Topic 3)
Implementation of supplier relationship management is most successful when a company emphasizes which of the following two factors?

A. Cost reduction and product design
B. Quality and partnerships
C. Technology and productivity
D. Capital investments and global expansion

Answer: B

NEW QUESTION 89
- (Topic 3)
Functional products require which of the following types of supply chain process?

A. Restrictive
B. Innovative
C. Efficient
D. Integrated

Answer: :C

NEW QUESTION 91
- (Topic 3)
Which of the following methodologies is most appropriate to use to drive continuous improvement?

A. Define-measure-analyze-improve-control process
B. Kanban
C. Poka-yoke
D. Pareto analysis

Answer: A

NEW QUESTION 95
- (Topic 3)
Supplier certification procedures verify that a supplier:

A. is ISO certified.
B. implements, documents, and improves procedures related to customer requirements.
C. tracks manufacturing processes, including bills of material and routings to support the processes.
D. manufactures products to the specifications shown on engineering documents and bills of material.

Answer: B

NEW QUESTION 97
- (Topic 3)
Organizations that change from a traditional purchasing perspective to a supply chain perspective most likely will adopt techniques related to:

A. product pricing.
B. value stream analysis.
C. centralized decision making.

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy CSCP dumps
https://www.2passeasy.com/dumps/CSCP/ (510 New Questions)

D. sourcing multiple suppliers.

Answer: B

NEW QUESTION 99
- (Topic 3)
A company recently faced an increase in backorders. The company’s marketing department recently ran a sales promotion. The purchasing and planning
departments were not aware of the promotional activity. Which of the following processes will help to solve this type of problem in the future?

A. Sales and operations planning (S&OP)
B. Advanced planning and scheduling (APS)
C. Supplier relationship management (SRM)
D. Customer relationship management (CRM)

Answer: A

NEW QUESTION 100
- (Topic 3)
The primary benefit a company is likely to achieve when setting time fences is:

A. reducing lead time.
B. providing a steady schedule for suppliers.
C. interpreting forecast properly.
D. maintaining a stable flow.

Answer: :D

NEW QUESTION 102
- (Topic 3)
A company has recently implemented a vendor-managed inventory (VMI) program with several key suppliers but quality issues are disrupting production. Which of
the following actions would be more effective in dealing with these issues?

A. Tighten the quality tolerances
B. Implement a supplier certification program
C. Implement quality inspection at the receiving dock
D. Charge back to the supplier the rework and scrap costs

Answer: B

NEW QUESTION 104
- (Topic 3)
Purchased component standardization generates savings primarily by reducing:

A. assembly costs through economies of scale.
B. engineering costs due to lower testing requirements.
C. inventory control costs due to smaller shelf space requirements.
D. inventory transportation costs by using economical modes.

Answer: A

NEW QUESTION 106
- (Topic 3)
Which of the following situations is a consequence of global operations?

A. Decreased logistic cost
B. Increased logistic complexity
C. Reduced product variety
D. Longer lead times

Answer: B

NEW QUESTION 108
- (Topic 3)
A manufacturer of fast-moving consumer goods wants to implement a process improvement method to increase flexibility and decrease the risk of obsolete
inventory. Which of the following approaches is most likely to help reach these goals?

A. Lean manufacturing
B. Advanced planning and scheduling
C. Six sigma
D. Total quality management

Answer: A

NEW QUESTION 110
- (Topic 3)
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The lowest-cost supply network design requires balancing inventory costs and which of the following types of costs?

A. Administrative
B. Manufacturing
C. Transportation
D. Sales and marketing

Answer: :C

NEW QUESTION 114
- (Topic 3)
Which of the following tools is most appropriate to use to determine projects that will achieve the greatest net benefits?

A. Pareto diagram
B. Fishbone diagram
C. Process flow diagram
D. Operation process chart

Answer: A

NEW QUESTION 116
- (Topic 3)
A procurement manager wants to reduce costs on commodity items. Which of the following actions is likely to result in the greatest savings?

A. Conducting a supplier review and recertification
B. Renegotiating contracts with commodity suppliers
C. Standardizing and eliminating redundant items
D. Leveraging group purchasing power

Answer: D

NEW QUESTION 120
- (Topic 3)
A manufacturer has direct relationships with its tier 1 suppliers. Which of the following supplier capabilities is a benefit to the manufacturer establishing a direct
relationship with lower-tier suppliers?

A. Provides smaller lot sizes
B. Provides components with short lead times
C. Provides Just in Time deliveries
D. Provides information about impending shifts in the economy

Answer: D

NEW QUESTION 123
- (Topic 3)
Which of the following outcomes is an expected benefit of effectively implementing supply chain event management software?

A. Inventory data are captured in real time.
B. Files are transferred from one corporation to another.
C. Notifications of variances from plans are triggered.
D. Communication protocols between companies are standardized.

Answer: :C

NEW QUESTION 127
- (Topic 3)
Which of the following conditions is most likely to occur shortly after the introduction of an innovative product family?

A. Forecast errors will be low.
B. Production lead time will increase.
C. An inventory buffer will be required.
D. Demand will be stable.

Answer: C

NEW QUESTION 129
- (Topic 3)
One of the first steps in devising an effective supply chain strategy within a company is to analyze a product's:

A. nature of demand.
B. backlog position.
C. forecast bias.
D. sales performance.

Answer: A
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NEW QUESTION 132
- (Topic 3)
A firm experiences a supply chain interruption from a second-tier supplier. Which of the following actions is the firm likely to take to minimize future interruptions?

A. Require the supplier to submit weekly cycle count reports.
B. Require the supplier to implement a sales and operations planning process.
C. Map the supplier's supply chain to identify risks and opportunities.
D. Conduct an ISO 14001 audit of the supplier.

Answer: C

NEW QUESTION 134
- (Topic 3)
A typical advantage of a production outsourcing strategy for a company focusing on agility as a competitive priority is that:

A. monitoring costs are decreased.
B. production lead time is increased.
C. product quality is increased.
D. product introduction time is decreased.

Answer: D

NEW QUESTION 138
- (Topic 3)
The production scheduler for a bottleneck resource should:

A. schedule additional preventive maintenance for the resource.
B. ensure a constant queue of work waiting to be processed.
C. increase production lot sizes to increase utilization of resources.
D. implement pull signals for production of the bottleneck resource.

Answer: B

NEW QUESTION 139
- (Topic 3)
A company that manufactures complex mechanical assemblies to customer order and ships them directly to the customer is implementing manufacturing cells.
The benefit most likely to result from this effort is a reduction in the:

A. number of component shortages.
B. production planning horizon.
C. time to fill customer orders.
D. response time to a request for quote.

Answer: C

NEW QUESTION 143
- (Topic 3)
A company uses cash-to-cash cycle time to assess how long it takes from:

A. receiving inventory from the supplier to paying the invoice from the supplier.
B. receiving inventory from the supplier to invoicing the customer.
C. paying the supplier for inventory received to receiving payment from the customer.
D. invoicing a customer to receiving payment from the customer.

Answer: C

NEW QUESTION 148
- (Topic 3)
Which of the following factors is most important to consider when deciding on offshore outsourcing of manufacturing to a supplier?

A. Size of the supplier organization
B. Total cost of ownership
C. Supplier performance history
D. Supplier certification

Answer: B

NEW QUESTION 153
- (Topic 3)
Which of the following outcomes is the primary benefit to an organization that develops a supplier certification program?

A. Supplier capability is documented.
B. Inspection costs are reduced.
C. Delivery time is improved.
D. Negotiating power is strengthened for the certifying organization.

Answer: 
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B

NEW QUESTION 158
- (Topic 3)
An information technology system that couples enterprise resources planning and an advanced planning system would be most appropriate for which of the
following types of business operations?

A. Multiple plants in multiple industries
B. Multiple plants in the same supply chain
C. Multiple supply chains of different products
D. Multiple supply chains of the same product

Answer: B

NEW QUESTION 160
- (Topic 3)
A company is beginning the process of defining market segments for its products and services. The most appropriate objective for this undertaking would be to
identify groups of customers with similar:

A. geographical locations.
B. buying power.
C. revenue potential.
D. service requirements.

Answer: D

NEW QUESTION 164
- (Topic 3)
A service company has decided to create a customer-focused business and has identified the following steps in the process:
{exhibit 3860}
Which of the following sequences of steps is correct for implementing the company's decision?

A. 2, 1, 4, 3, 5
B. 4, 2, 1, 5, 3
C. 3, 5, 2, 4, 1
D. 4, 2, 5, 1, 3

Answer: B

NEW QUESTION 167
- (Topic 3)
A manufacturer of consumer goods has purchased one of its distributors. The distributor's inventory system is archaic and will not integrate into the manufacturer's
enterprise resources planning (ERP) system. Which of the following approaches is the most appropriate long-term solution for the manufacturer?

A. Buy a complete ERP system that includes seamlessly integrated distribution.
B. Buy a warehouse management system that integrates into the ERP system.
C. Run the existing warehouse inventory system and update the ERP system manually.
D. Hire a software contractor to write an interface with batch update to the ERP system.

Answer: B

NEW QUESTION 168
- (Topic 3)
Which of the following metrics is the most appropriate measure of supply chain responsiveness?

A. Order fulfillment lead times
B. Percentage of orders delivered on time
C. Retail inventory days of supply
D. Upside production flexibility

Answer: D

NEW QUESTION 170
- (Topic 3)
Which of the following strategies is most appropriate for managing unknown risks in a global supply chain?

A. Vertical integration
B. Technology integration with suppliers
C. Investing in redundancy
D. Strengthening supplier relationships

Answer: C

NEW QUESTION 175
- (Topic 3)
Which of the following actions is key to identifying potential problems in lean supply chain development?
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A. Implement vendor managed inventory
B. Install a supply chain solution
C. Reduce customer order size
D. Reduce inventory levels

Answer: D

NEW QUESTION 178
- (Topic 3)
Which of the following processes is included in reverse logistics?

A. Designing a new product out of recycled material
B. Restoring a worn-out product to like-new condition
C. Reducing the amount of packaging material in a product
D. Eliminating toxic materials in a product

Answer: :B

NEW QUESTION 179
- (Topic 3)
Which two of the following tools should be used with an enterprise resources planning system to build realistic supply chain models and to plan the most profitable
flow of goods across the chain?

A. An advanced planning and scheduling system and simulators
B. An inventory planning and management system and simulators
C. A vendor managed inventory system and customer relationship management
D. Customer activity planning and logistics management

Answer: A

NEW QUESTION 182
- (Topic 3)
An advanced planning system differs primarily from enterprise resources planning by:

A. optimizing operations scheduling.
B. translating plans into action.
C. concentrating on production.
D. linking to the transportation management system.

Answer: A

NEW QUESTION 184
- (Topic 3)
Which of the following benefits should a supplier expect to receive by becoming a certified supplier?

A. Reduction in redundant processes with buyer
B. Increase in price of items sold
C. Increase in access to competitive information
D. Reduction in number of items utilizing vendor-managed inventory

Answer: A

NEW QUESTION 187
- (Topic 3)
Which of the following continuous improvement methodologies focuses on reduction of defects by reducing process variation?

A. Just-in-Time (JIT)
B. Kaizen
C. Six Sigma
D. Theory of constraints

Answer: C

NEW QUESTION 190
- (Topic 3)
Which of the following steps is first in developing a product differentiation strategy?

A. Study customer needs
B. Define customer segments
C. Determine design modifications
D. Establish competitive priorities

Answer: A

NEW QUESTION 191
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- (Topic 3)
A manufacturing company with limited competence in logistics plans to expand into an international market. The most appropriate initial action the company should
take is to:

A. buy a distribution company.
B. build a distribution network.
C. engage a third-party logistics company.
D. gain logistics experience.

Answer: C

NEW QUESTION 196
- (Topic 3)
Which of the following fill rates is the most rigorous measure of a firm's availability performance?

A. Line
B. Item
C. Order
D. Value

Answer: C

NEW QUESTION 200
- (Topic 3)
Continuous process improvement is characterized by which two of the following key steps?

A. Quality circles and benchmarking
B. Process review and supplier audits
C. Analysis and assessment
D. Observation and selection

Answer: C

NEW QUESTION 202
- (Topic 3)
A consumer goods manufacturer has introduced a new frozen product and encountered problems applying package labels consistently. Which of the following
methodologies would be most appropriate to use to identify the root cause of the problem?

A. Six sigma
B. Statistical process control
C. Lean production
D. Theory of constraints

Answer: A

NEW QUESTION 204
- (Topic 3)
A company uses multiple ingredients to make a product that is sold in multiple countries. Each country requires country-specific labels. A third-party supplier
provides the country- specific labels. The most appropriate push-pull interface is:

A. raw materials to product.
B. product to labels.
C. finished product with labels.
D. customer to finished product.

Answer: B

NEW QUESTION 209
- (Topic 3)
A manufacturer experiences frequent changes in product technology and market preferences, resulting in new product introductions each year. Which of the
following sourcing strategies would be most appropriate?

A. Sole sourcing
B. Multiple sourcing
C. Long-term contracting
D. Strategic partnering

Answer: D

NEW QUESTION 212
- (Topic 3)
Incorporating information technology into its supply chain allows a company to efficiently:

A. collect, store, encode, process, analyze, transmit, receive, and print data.
B. manage order entry, scheduling, warehousing, and order tracking.
C. incorporate elements of Six Sigma into supplier relationships.
D. upgrade enterprise resources planning revisions in a timely and secure manner.
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Answer: A

NEW QUESTION 214
- (Topic 3)
A company most likely would implement a supplier certification program to:

A. improve the supplier's procurement process.
B. abide by ISO standards.
C. validate the supplier's compliance with requirements.
D. implement point-of-sale (POS) terminals.

Answer: :C

NEW QUESTION 216
- (Topic 3)
The logistics value proposition involves matching:

A. identification of appropriate sourcing partners with service reliability metrics.
B. activity-based costing practices with supply chain financial strategy.
C. cost minimization practices with balanced scoreboard performance.
D. operating competency and commitment with key customer requirements.

Answer: D

NEW QUESTION 221
......
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